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EXECUTIVE OFFICER, GRADE- III (GROUP- VII- B SERVICES) (TAMIL NADU 

HINDU RELIGIOUS AND CHARITABLE ENDOWMENTS SUBORDINATE SERVICE) 

 
1. The Fort Panchalam Kurichi was attacked by  

a. Jackson   b. Major Banerman  c. General Malartic 

d. General Boscawan e. Answer not known 

ghQ;rhyk; Fwpr;rp Nfhl;ilapd kPJ jhf;Fjy; njhLj;jth; ___________ Mthh;. 

a. [hf;rd;    b. Nk[h; Ngdh;khd;  c. n[duy; kyhh;bf; 

d. n[duy; gh];fhntd;   e. tpil njhpatpy;iy 
 

2. Arrange it in chronological order 

1. Under the leadership of EV Ramasamy, Justice party was reorganized as 

‘Dravidar Kazhagam’ 

2. EV Ramasamy elected as president of Justice party when he was in jail. 

3. EV Ramasamy organized Dravida Nadu conference demanding separate and 

independent “Dravida Nadu’ 

4. The Congress won the Madras Legislative Assembly election. 

a. 1 3 2 4  b. 3 4 1 2    c. 4 2 3 1   

d. 2 1 3 4  e. Answer Not known 
fhy thpirg; gb gl;baypLf: 

1.<.Nt.uhkrhkp jiyikapy; ePjpf; fl;rp “jpuhtpl fofk;” vd khw;wp mikf;fg;gl;lJ. 
2.<.Nt.uhkrhkp rpiwapy; ,Ue;Jf; nfhz;L ePjpf;fl;rp jiytuhf Njh;e;njLf;fg;gl;lhh;. 
3.<.Nt.uhkrhkp jpuhtpl ehL khehL elj;jp mjpy; Rje;jpu kw;wk; jdp jpuhtpl ehL 
Nfhhpf;if Kd; itj;jy;. 
4. nkl;uh]; rl;lrig Njh;jiy fhq;fpu]; fl;rp ntd;wJ. 

a. 1 3 2 4  b. 3 4 1 2    c. 4 2 3 1   

d. 2 1 3 4  e. tpil njhpatpy;iy 

 

3. River Sanctuary in Tamil Nadu is  

a. Kalakad Mundanthurai Tiger Reserve  b. Sathyamangalam Tiger Reserve 

c. Mudumalai Elephant Reserve    d. Vellode Bird Sanctuary 

e. Answer not known 

 jkpo;ehl;by; “MWfspd; ruzhyak;” vd;W ___________ miof;fg;gLfpwJ. 

 a. fyf;fhL Kz;le;Jiw Gypfs; ruzhyak; 

 b. rj;jpa kq;fyk; Gypfs; ruzhyak; 

 c. KJkiy ahidfs; ruzhyak; 

 d. nts;NshL gwitfs; ruzhyak; 
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e. tpil njhpatpy;iy 
 

4. The main cause for Landslides in Nilgiris District is  

a. Drought conditions  b. Heavy rain  c. Inflow of tourists 

d. Smart city project  e. Answer not known 

ePyfphp khtl;j;jpy; epyr;rhpT Vw;glf; fhuzkhf ,Ug;gJ ____________ MFk;. 

 a. twl;rpahd epiy   b. mjpf kio  c. Rw;Wyhtpdh; tUif 

d. rpwg;G efuk; jpl;lk; e. tpil njhpatpy;iy  

 

5. If the interest is compounded half yearly find the compound interest for Rs. 5,000 at 

20 % p.a. for 1 ½ years. 

a. Rs. 6,655   b. Rs. 1,655  c. Rs.2,655 

d. Rs. 1,665   e. Answer not known 

$l;L tl;b fhz;f.: 1½ Mz;LfSf;F mry; &.5>000> 20 %Mz;L tl;b tPjk; 
miuahz;Lf;F xU Kiw fzf;fplg;gl;Ls;sJ. 

a. Rs. 6,655   b. Rs. 1,655  c. Rs.2,655 

d. Rs. 1,665   e. tpil njhpatpy;iy 

 

6. A sum at simple interest of 13½% per annum amounts to Rs. 3,080 in 4 yr. Find the 

Principal 

a. Rs.2,000   b. Rs. 1,850    c. Rs.1,650 

d. Rs. 1,550  e. Answer not known 

Mz;Lf;F 13½% tPjk; jdp tl;bf;F 4 Mz;Lfspy; fpilf;Fk; nkhj;j njhif 
&.3>080 vdpy; mriyf; fhz;f. 

a. Rs.2,000   b. Rs. 1,850    c. Rs.1,650 

d. Rs. 1,550  e. tpil njhpatpy;iy 

  

7. What is the botanical name of Lemon grass? 

a. Cynodon dactylon  b. Setaria italica  c. Arundo donax 

d. Cympopogon citratus  e. Answer not known 
 vYkpr;ir Gy;ypd; jhtutpay; ngah; vd;d? 

 a. raNdhlhd; lhf;ilyhd;  b. rPl;Nlhpah ,l;lhypf;fh 

 c. mUz;Nlh Nlhdhf;];   d. rpk;NghNghfhd; rpl;Nul;l]; 

 e. tpil njhpatpy;iy 

 

8. Bordeaux mixture contains 

a. CuSO4 +lime  b. ZnSO4 +lime  c. HgCl2 +lime 

d. K2CO3+lime  e. Answer not known 

Nghh;bahf;]; fyit vd;gJ __________ MFk; 

a. CuSO4 +Rz;zhk;G b. ZnSO4 + Rz;zhk;G c. HgCl2 + Rz;zhk;G 

d. K2CO3+ Rz;zhk;G e. tpil njhpatpy;iy  
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9. Which one of the following is not a precautionary measure that we should take 

before Tsunami? 

a. Find a safe route to nearest shelter  

b. Considering alternative buildings 

c. Having an emergency kit   

d. Those residing in ground floor should remain there 

e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;Ws; vJ Rdhkp tUtjw;F Kd; ehk; Nkw;nfhs;s Ntz;ba 
Kd; vr;rhpf;if eltbf;if ,y;iy?  

a. mUfpYs;s ghJfhg;ghd jq;Fkplj;jpw;F topia fz;lwpjy; 

b. khw;Wf; fl;blj;ij fUj;jpy; nfhs;sy; 

c. mtru KjYjtpg; ngl;b itj;jpUj;jy; 

d. jiu jsj;jpy; trpg;gth;fs; mq;NfNa ,Uj;jy; 

e. tpil njhpatpy;iy 
 

10. Gilgit tunnel is formed by the action of which of the following rivers? 

a. Ganges   b. Indus  c. Brahmaputra 

d. Narmada   e. Answer not known 
 fpy;fpl; kiyf; FilT gpd;tUk; ejpfspy; vtw;wpd; nray;fshy; cUthf;fg;gl;lJ. 

 a. fq;if   b. rpe;J  c. gpuk;kGj;jpuh 

d. eh;kjh   e. tpil njhpatpy;iy 

 

11. Which Article of Indian constitution says that, “The Supreme Court is bound to give 

advice to the President of India”? 

a. Art.143    b. Art 144   c. Art 145 

d. Art.146    e. Answer not known 

“cr;rePjpkd;wk; ,e;jpa FbauRj; jiytUf;F MNyhrid toq;f flikg;gl;Ls;sJ” 
,e;jpa murpayikg;gpd; ve;j ~uj;J ,jidf; Fwpg;gpLfpwJ.? 

a. ~uj;J 143   b. ~uj;J 144   c. ~uj;J 145 

d. ~uj;J.146   e. tpil njhpatpy;iy 

 

12. The Union List consists of  

a. 97 Subjects   b.61 Subjects   c. 66 Subjects 

d. 70 Subjects   e. Answer not known 
kj;jpag; gl;bay; c;slf;fpaJ. 

a. 97 ,dq;fs;   b.61 ,dq;fs;   c. 66 ,dq;fs;  

d. 70 ,dq;fs;  e. tpil njhpatpy;iy 

    

13. The Act of ___________ introduced separate electorates for Muslims. 

a. 1919 b. 1935 c. 1947  d. 1909   e. Answer not known 

_____________ Mz;L rl;lk; ,];yhkpaUf;nfd jdp gpujpepjpj;Jtj;ij mwpKfk; 
nra;jJ. 

a. 1919 b. 1935 c. 1947  d. 1909    e. tpil njhpatpy;iy 
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14. Wherefrom the Indian National Army started its March towards Delhi in September 

1943? 

a. at the victory tower of Nepal  b. at the tomb of Bahadur Shah II 

c. at the ceremonial parade ground c. at the seashore of Indian ocean 

e. Answer not known 
nrg;lk;gh; 1943 y; ,e;jpa Njrpa ,uhZtk; vq;fpUe;J jdJ nly;yp mzptFg;ig 
Jtq;fpaJ? 

a. Neg;ghspy; cs;s ntw;wp NfhGuj;jpy; 

b. ,uz;lhk; gfJ}h;~htpd; fy;yiwapd; mUfpy; 

c. ,uhZtj;jpd; tpNr~ gapw;rp ikjhdj;jpypUe;J 

d. ,e;jpa ngUq;flypd; fiuapypUe;J 

e. tpil njhpatpy;iy 

 

15. Pick out correct statement 

i.  Kural stresses the importance of knowledge and education 

ii. Kural stresses the importance of religion 

iii. Kural stresses the significance of art and dance 

iv. Kural stresses the importance of truth and modesty 

a. Both i  and ii   b. Both ii and iii   c. Both i and iv 

d. Both iii and iv   e. Answer not known 
 rhpahdij Njh;T nra;f: 

 i. jpUf;Fws; mwpitAk; fy;tpiaAk; typAWj;JfpwJ. 

 ii. Fws; kjj;jpd; Kf;fpaj;Jtj;ij czh;j;JfpwJ. 

 iii. Fws; fiy kw;Wk; eldj;jpd; Kf;fpaj;Jtj;ij typAWj;JfpwJ. 

 iv. Fws; tha;ikiaAk; mlf;fj;ijAk; typAWj;JfpwJ. 

a. i  kw;Wk;  ii Mfpad  b. ii  kw;Wk;  iii Mfpad  c. i  kw;Wk;  iv Mfpad 

d. iii  kw;Wk;  iv Mfpad  e. tpil njhpatpy;iy 
 

16. 13.89 Lakh SHGs were covered with aggregate bank loans of Rs._______ Crore in  

Tamil Nadu, as on 31st March 2013. 

a. Rs. 26,645 Crore   b. Rs. 38,748 Crore   c. Rs. 18,245 Crore 

d. Rs.17,648 Crore  e. Answer not known 
31khh;r; 2013 y; jkpo;ehl;by; cs;s 13>89 yl;rk; Ra cjtp FOf;fSf;F toq;fg;gl;l 

nkhj;j fld; njhif &. ___________ NfhbahFk;.  

a. &. 26,645 Nfhb   b. &. 38,748 Nfhb   c. &. 18,245 Nfhb 

d. &.17,648 Nfhb  e. tpil njhpatpy;iy 

 

17. In 2011 – 2014, the total length of railway lines in Tamil Nadu was ____________ Km. 

a. 2,671,43 Kms.  b. 3,761,62 Kms  c. 4,861,34 Kms 

d. 8,963,44 Kms  e. Answer not known 

 2011-2014 ypy; jkpo;ehl;bd; ,Ug;G ghijapd; msT __________ fp.kPl;luhf ,Ue;jJ. 

a. 2,671,43 fp.kP.  b. 3,761,62 fp.kP.  c. 4,861,34 fp.kP. 

d. 8,963,44 fp.kP.  e. tpil njhpatpy;iy 
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18. 6:x::y:15 of the following answers which cannot be the value of x and y respectively.  

a. 9,10    b. 3,30    c. 2,45 

d. 10,10   e. Answer not known 
  

6:x::y:15  fPo; fhZk; tpilfspy; ve;j tpil x f;Fk; y f;Fk; KiwNa nghUe;jhJ? 

a. 9,10    b. 3,30    c. 2,45 

d.10,10   e. tpil njhpatpy;iy 

  

19. Selvan saves Rs. 5,000 every 3 months. How many years will it take for him to save 

Rs. 1,50,000? 

a. 90 years   b. 7 ½ years   c. 9 years 

d. 30 years   e. Answer not known 
nry;td; &.5>000 %d;W khjj;jpw;F xU Kiw Nrkpf;fpwhh; vdpy; &1>50>000 I Nrkpf;f 
vj;jid tUlq;fshFk;.? 

a. 90 tUlq;fs;  b. 7 ½ tUlq;fs;  c. 9 tUlq;fs; 

d. 30 tUlq;fs;  e. tpil njhpatpy;iy 

 

20. _________ stated that the properties of elements are a periodic function of atomic 

numbers. 

a. Rang   b. Werner   c. Mendeleef 

d. Mosley   e. Answer not known 
jdpkq;fspd; gz;Gfs; kw;Wk; nray;ghL mjd; mZ vz;izg; nghWj;J ,Uf;Fk; 
vdf; $wpath;. 

 a. Nuq;f;   b. nth;dh;   c. nkd;lyPg; 

d. Nkh];Ny   e. tpil njhpatpy;iy 

 

21. The minimum possible temperature beyond which matter cannot be cooled is  

a. -100C  b. 0C  c. -273 C d. -500C e. Answer not known 
xU nghUis xU Fwpg;gpl;l ntg;gepiyf;F fPo; Fsph;tpf;f itf;f KbahJ. me;j 
ntg;gepiy 

a. -100C  b. 0C  c. -273 C d. -500C e. tpil njhpatpy;iy 

 

22. Which one of the following statement is not correct? 

a. K2 is the highest peak in India 

b. Jog waterfall is the highest waterfall in India 

c. Cherrapunji is the Wettest Place in India 

d. Deccan Plateau is the largest Plateau in India 

e. Answer not known 
 gpd;tUtdtw;Ws;> jtwhd $w;W vJ?  

 a. ,e;jpahtpNyNa caukhd rpfuk; K2 MFk;. 

 b. ,e;jpahtpy; caukhd ePh;tPo;r;rp N[hf; ePh;tPo;r;rp MFk;. 

 c. rpuGQ;rp ,e;jpahtpyNyNa <ukhd gFjpahFk;. 

 d. ,e;jpahtpNyNa kpfg;nghpa gPlG+kp jf;fhz gPlG+kpahFk;. 
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 e.  tpil njhpatpy;iy 

 

23. Which is religious leader bound social harmony Jainism and Brahmanism? 

a. Appar   b. Hemachandra  c. Ramanujar 

d. Sampandar  e. Answer not known 
ve;j rkaj;jiyth; rkzj;jpw;Fk;> gpuhkzpaj;jpw;Fk; r%f ,zf;fj;jpid 
cUthf;fpdhh;? 

a. mg;gh;   b. N`kr;re;jpuh  c. ,uhkhD[h; 

d. rk;ge;jh;   e. tpil njhpatpy;iy 

 

24. The Prime Minister of India is appointed by 

a. The Governor   b. The Speaker c. The President 

d. The Election commissioner e. Answer not known 
 ,e;jpag; gpujkiu epakdk; nra;gth; 

 a. M@eh;   b. rghehafh;   c. FbauRj; jiyth; 

 d. Njh;jy; Mizah; e. tpil njhpatpy;iy  

   

25. Which of the following countries is the first ever to incorporate the directive 

Principles of State Policy as part of their constitution? 

a. Ireland   b. America   c.India 

d. Spain   e. Answer not known 
muR newpKiw Nfhl;ghl;bid gpd;tUk; ehLfspy; vJ Kjd;Kjypy; jq;fs; 
murpayikg;gpy; Nrh;j;Jf; nfhz;lJ? 

a. mah;yhe;J   b. mnkhpf;fh   c.,e;jpah 

d. ];ngapd;   e. tpil njhpatpy;iy 
 

26. Who was the Founder and Editor of the Journals Punjabee, the Bande Mataram and 

the English weekly, The people? 

a. lala Lajpat Rai  b. C.R. Dass  c. B.G.Tilak 

d. B.C.Pal   e. Answer not known 
gQ;rhgp> te;Nj khjuk; vd;w ,jo;fisAk;> kf;fs; vd;w Mq;fpy thu ,jioak; 
epWtpatUk; mjd; gjpg;ghrphpauhfTk; ,Ue;jth; ahh;? 

a. yhyh y[;gj; uha; b. rp.Mh;.jh];  c. gp.[p.jpyf; 

d. gp;.rp.ghy;   e.  tpil njhpatpy;iy 

 

27. Which company helped Gandhi to do his legal practice in south Africa? 

a. Dada Abdulla company  b. Tata and Birla Company 

c. Malabar Tea Company  d. Surath Textile Company 

e. Answer not known 
fhe;jpabfs; njd;dhg;gphpf;fhtpy; jdJ tof;FiuQh; njhopy; Jtq;f cjtpa 
tpahghu epWtdk; vJ? 

a. jhjh mg;Jy;yh epWtdk; b. lhl;lh kw;Wk; gph;yh epWtdk; 

c. kyghh; Njapiy epWtdk; d. #uj; [Tsp epWtdk;   e. tpil njhpatpy;iy 
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28.  Tilak of South India was 

a. Vanchinathan  b. subrahmaniasiva  c. Rajaji 

d. V.O.Chidambaranar e. Answer not known 

 ‘njd;dhl;Lj;jpyfh;’ vd miof;fg;gl;lth; ___________ Mthh;. 

 a. thQ;rpehjd;  b. Rg;ukzpa rpth  c. ,uh[h[p 

 d. t.c.rpjk;gudhh;  e. tpil njhpatpy;iy 

 

29.  The name of the Justice Party was previously called 

a. South Indian Youth Federation 

b. South Indian Liberal Association 

c. South Indian Press Reporters Association 

d. South Indian Literate Federation  

e. Answer not known 

Kjd; Kjypy; ePjpf;fl;rp _______________ vd;w ngahpy; miof;fg;gl;lJ. 

 a. njd;dpe;jpa ,isQh; rq;fk; 

 b. njd;dpe;jpa ey chpik rq;fk; 

 c. njd;dpe;jpa gj;jphpf;if ep&gh;fs; rq;fk; 

 d. njd;dpe;jpa ,yf;fpa If;fpa kd;wk; 

 e. tpil njhpatpy;iy 
  

30. Next term in 
1 3 5 7

, , , ,...
2 5 10 17

is 

a. 
10

27
  b. 

9

26
  c. 

9

28
  d. 

11

26
  e. Answer not known 

1 3 5 7
, , , ,...

2 5 10 17
y; mLj;j cWg;G 

a. 
10

27
  b. 

9

26
  c. 

9

28
  d. 

11

26
  e. tpil njhpatpy;iy 

 

31. 7x5x3x2+3  is a prime or composite number or integer? 

a. composite number b. Prime number c. Whole number 

d. Integer   e. Answer not known 

7x5x3x2+3 vd;gJ xU gF vz;zh? gfh vz;zh? xU KOth? 

a.  gF vz;   b. gfh vz;  c. KO vz; 

d. KOf;fs;   e. tpil njhpatpy;iy 

 

32. Out of 50 students in a class, 30 are boys, then the ratio of number of boys to number 

of girls 

a.  2 : 3 b. 2 : 5  c. 5 : 3   d. 3 : 2  e. Answer not known 
xU tFg;gpy; cs;s 50 khzth;fspy; 30 Ngh; khzth;fs; vdpy; khzth; kw;Wk; 
khztpfSf;F ,ilNaahd tpfpjk;. 

a.  2 : 3 b. 2 : 5  c. 5 : 3   d. 3 : 2  e. tpil njhpatpy;iy 
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33. Given that HCF (X,Y) =4 and LCM (X,Y) = 9696, if X=96, Find Y 

a. 101  b. 404  c.9212   d. 24  e. Answer not known 

 X,Y vd;w ,U vz;fspd; kP.ngh.t. (X,Y) =4 kw;Wk; kP.ngh.k. (X,Y) =9696,  

 X= 96 vdpy;> Y d; kjpg;ig fhz;f. 

a. 101  b. 404  c.9212   d. 24   e. tpil njhpatpy;iy 

 

34. The force of attraction between two charges at distance ‘d’ is  ‘F’. What distance apart 

should these charges be kept in the same medium, so that the force becomes 16 F? 

a. 
2

d
  b. 

4

d
  c. 

3

d
  d. 

2

d
  e. Answer not known 

,uz;L kpd;D}l;lq;fspd; ,ilg;gl;l ,lg;ngah;r;rp ‘d’ Mf ,Uf;Fk;NghJ fth;r;rp 

tpir ‘F’Mf cs;sJ. fth;r;rp tpir 16 F Mf khw> ,lg;ngah;r;rp vd;d? 

a. 
2

d
  b. 

4

d
  c. 

3

d
  d. 

2

d
  e. tpil njhpatpy;iy 

 

35. The French Drama, “Happening” (1960) about illegal abortion won the Golden Lion 

Award for the Best Film at ___________ Film Festival. 

a. Paris   b. Venice   c. Geneva 

d. Vienna   e. Answer not known 
`g;gdpq;> (1960) rl;l tpNuhj fUf;fiyg;Gg; gw;wpa gpnuQ;R ehlfk;> rpwe;j 

jpiug;glj;jpw;fhd ‘Nfhy;ld; yad; tpUJ’ __________ jpiug;gl tpohtpy; 
toq;fg;gl;lJ. 

a. ghhp];   b. ntdp];    c. n[dpth 

d. tpad;dh   e. tpil njhpatpy;iy     

 

36. Kharosthi script derived from the  

a. Brahmi   b. Semitic  c. Roman 

d. Aramaic    e. Answer not known 
 RNuh~;jp vOj;J tbtk; vjpy; ,Ue;J cUthdJ 

 a. gpuk;kp   b. nrkpl;bf;  c. Nuhkd; 

 d. muhkpf;   e. tpil njhpatpy;iy 
 

37. When did Malayalam Became the separate language? 

a. 6th Century  b. 11th Century  c. 12th Century 

d. 9th Century  e. Answer not known 
 vg;NghJ kiyahsk; jdp nkhopahf khwpaJ? 

 a. 6Mk; E}w;whz;L   b. 11 Mk; E}w;whz;L c. 12Mk; E}w;whz;L 

 d. 9Mk; E}w;whz;L  e. tpil njhpatpy;iy 

 

38. The time taken for the Constituent Assembly to finalize the Constitution of India 

a. 2 Years, 11 months, 18 days   b. 2 Years, 9 months, 8 days 

c. 2 years, 7 months, 18 days   d. 2 years, 5 months, 20 days 

e. Answer not known 
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 ,e;jpa murpayikg;ig cUthf;f tiuTf;FO vLj;Jf;nfhz;l fhyk;  

a. 2 Mz;Lfs;, 11 khjk;> 18 ehs;   b. 2 Mz;Lfs;, 9 khjk;, 8 ehs;  

c. 2 Mz;Lfs;, 7 khjk;, 18 ehs;   d. 2 Mz;Lfs;, 5 khjk;, 20 ehs; 

e. tpil njhpatpy;iy 

 

39. Who was the Chairman of the Drafting Committee of Indian Constitution? 

a. Dr. B.R. Ambedkar  b. Rajendra Prasad   c. Jawaharlal Nehru 

d. None of the above  e. Answer not known 
,e;jpa murpayikg;G tiuTf; FOtpd; jiyth; ahh;? 

a. lhf;lh;. B.R. mk;Ngj;fhh;    b. ,uhN[e;jpu gpurhj;  c. [t`h;yhy; NeU  

d. Nkw;$wpatw;Ws; vtUkpy;iy     e. tpil njhpatpy;iy 

 

40. Who is popularly called as the Prophet from the South? 

a. Rajaji  b. V.O. Chidambaram c. Periyar E.V.Ramasamy 

d. Bharathiar  e. Answer not known 

‘njw;fpypUe;J te;j jPh;f;fjhprp’ vd;W rpwg;ghf miof;fg;gl;lth; ahh;? 

a. ,uh[h[p  b. t.c.rpjk;guk;  c. nghpahh; <.nt.,uhkrhkp 

d. ghujpahh;  e. tpil njhpatpy;iy 

 

41. Which act was passed abrogating the right of free speech and criticism? 

a. The Criminal Law b. National Act of 1908 c. Indian Press Act of 1910 

d. Press Act of 1906  e. Answer not known 
Ngr;RhpikAk;> fUj;JhpikiaAk; gwpg;gjw;fhfNt epiwNtw;wg;gl;l rl;lk; vJ? 

a. fphpkpdy; rl;lk;     b.1908 Mk; Mz;L Njrpa rl;lk; 

c. 1910 Mk; Mz;L ,e;jpa gj;jphpf;if rl;lk; d.1906 Mk; Mz;L gj;jphpf;if rl;lk; 

 e. tpil njhpatpy;iy 

 

42. Varunan was the God of 

a. People of Kurinji  b. People of Mullai  c. People of Neidal 

d. People of Marutham e. Answer not known 
tUzd; vd;w flTis tzq;fpath;fs; 

a. Fwp Q;rp epy kf;fs;  b. Ky;iy epy kf;fs; c. nea;jy; epy kf;fs; 

d. kUjk; epy kf;fs; e. tpil njhpatpy;iy 

 

43. Name the first lady arrested in connection with Salt Satyagraha and the President of 

the Tamil Nadu Provincial congress Committee. 

a. Sarojini   b. Rukmani Lakshmipathy  c. Ambujammal 

d. Parvathi Devi  e. Answer not known 
jkpo;ehL khepy fhq;fpu]; fkpl;bapd; jiyth; kw;Wk; cg;G rj;jpahfpufj;ijAk; 
vLj;J elj;jp ifJ nra;ag;gl;l Kjy; ngz;kzp ngaiuf; Fwpg;gpLf. 

a. rNuh[pdp   b. Uf;kzp y~;kpgjp  c. mk;G[k;khs; 

d. ghh;tjp Njtp  e. tpil njhpatpy;iy 
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44. Given F1=1, F2=3 and Fn=Fn-1+Fn-2 then F5 is 

a. 3  b. 5  c. 8  d. 11  e. Answer not known 

F1=1, F2=3 kw;Wk; Fn=Fn-1+Fn-2 vdpy; F5  MdJ 

a. 3  b. 5  c. 8  d. 11  e. tpil njhpatpy;iy 

 

45. Two dice are numbered 1,2,3,4,5,6 and 1,1,2,2,3,3 respectively.  They are rolled and 

the sum of the numbers on them is noted.  Find the probability of getting sum 4. 

a. 
3

36
  b. 

4

36
  c. 

5

36
  d. 

6

36
  e. Answer not known 

,uz;L gfilfspy; xd;wpy; 1,2,3,4,5,6  vd;Wk; kw;nwhU gfilapy; 1,1,2,2,3,3 vd;Wk; 
Kf  kjpg;Gfs; Fwpf;fg;gl;Ls;sd. mit ,uz;Lk; cUl;lg;gLk; NghJ fpilf;Fk; 
Kf kjpg;Gfspd; $Ljy; 4 fpilg;gjw;fhd epfo;jfit fhz;. 

a. 
3

36
  b. 

4

36
  c. 

5

36
  d. 

6

36
  e. tpil njhpatpy;iy 

N 

46. If the H.C.F. of two numbers is 1 then the numbers are called 

a. Co prime numbers b. Prime numbers  c. Even integers 

d. Odd integers  e. Answer not known 
,U vz;fspd; kP.ngh.t. kjpg;G 1 vdpy; mt;tpU vz;fis miof;Fk; Kiw  

a. rhh;gfh vz;fs;  b. gfh vz;fs;  c. ,ul;il vz;fs; 

d. xw;iw vz;fs;  e. tpil njhpatpy;iy 

 

47. The ratio of the cost price and the selling price is 4 : 5. The profit percent  

a. 10%  b.20 %  c. 25%  d. 30 % e. Answer not known 
xU nghuspd; thq;fpa tpiy kw;Wk; tpw;w tpiy 4 : 5 vd;w tpfpjj;jpy; cs;sd. 
vdpy; ,yhg rjtPjk; fhz;f. 

a. 10%  b.20 %  c. 25%  d. 30 % e. tpil njhpatpy;iy 

 

48. The motto of “Satyameva Jayate” “Truth alone Triumphs” was written in __________ 

script. 

a. Kharosthi   b. Brahmi   c. Devanagiri 

d. Aramaic   e. Answer not known 

‘rj;aNkt n[aNj’ vd;w ‘tha;ikNa nty;Yk;’ -------------------- vOj;J tbtpy; 
vOjg;gl;Ls;sJ.  

a. fNuh~;jp   b. gpuhkp  c. Njtehfphp 

d. mnukpf;   e. tpil njhpatpy;iy 

 

49. The Sahitya Academy has recognized ______ Indian Languages.  

a. 13  b. 15  c. 17  d. 24  e. Answer not known 

rhfpj;a mfhlkp ____________ ,e;jpa nkhopfis mq;fPfhpj;Js;sJ. 

a. 13  b. 15  c. 17  d. 24  e. tpil njhpatpy;iy 
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50. The term ‘aima’mean 

a. Prostration to the Emperor  b. Kissing the Ground  c. Four Salutations 

d. Lands donated to the purpose of prayer to God   e. Answer not known 

‘ma;kh’ vd;w nrhy; vij Fwpf;fpd;wJ? 

a. kd;dh; Kd; kz;bapLjy;  b. epyj;jpy; Kj;jkpLjy;  

c. ehd;F tzf;fq;fs;   d. flTs; topghl;Lf;F xJf;fg;gLk; epyk;  

e. tpil njhpatpy;iy 

 

51. Nicolo Conti and Abdur Razzaq visited India during the reign of  

a. Cholas   b. Pandyas  c. Vijayanagar rulers 

d. Bahmani Sultans  e. Answer not known 
 

,e;jpahtpy;> epf;Nfhyh fhz;b kw;Wk; mg;Jh; u]hf; __________ Ml;rpapd; NghJ 
tUifGhpe;jdh;.  

 a. Nrhoh;fs;   b. ghz;bah;fs;  c. tp[aefh; murh;fs; 

d. ghkpdp Ry;jhd;fs; e. tpil njhpatpy;iy 
  

52. Match the List I with List II and select the correct answer using the codes given 

below: 

According to 2011 census, the literacy levels in the states are 

 List I    List II 

State    Literacy level(%)     

A. Kerala    1. 93.99% 

B. Tamil Nadu   2. 75.36% 

C. Karnataka    3. 67.02% 

D. Andhra Pradesh   4.80.09% 

 A B C D 

a. 1 2 3 4 

b. 1 4 2 3 

c. 1 2 4 3 

d. 1 3 2 4 

e.  Answer not known 

gl;bay; I kw;Wk; gl;bay; II I nghUj;jp fPNo nfhLf;fg;gl;Ls;s rhpahd tpiliaj; 
Njh;T nra;f: 
2011 kf;fl; njhiff; fzf;nfLg;gpd;gb gbj;jth; mjpfkhd rjtpfpjj;jpy; cs;s 
khepyq;fis thpirg;gLj;J. 

 gl;bay; I    gl;bay; II 

khepyk;   vOj;jwpT tPjk;(%)    

A Nfush    1) 93.99% 

B  jkpo;ehL    2) 75.36% 

C fh;ehlfh    3) 67.02% 

D Me;jpu gpuNjrk;   4) 80.09% 

A B C D 

a. 1 2 3 4 
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b. 1 4 2 3 

c  1 2 4 3 

d  1 3 2 4 

e. tpil njhpatpy;iy 
 

53. Who told this statement that “The Revolt of 1857 was a conflict between civilization 

and barbarism”? 

a. T.R. Holmes  b. Sir James   c. Sir Seeley 

d. Sir Lawrence  e. Answer not known 

‘1857 Mk; Mz;L Gul;rp ehfhPfj;jpw;Fk; mehfhPfj;jpw;Fk; ,ilNa Md Nkhjy;’ vd;w 
fUj;ij $wpath; ahh;? 

a. b.Mh;. N`hk;];   b. rh;. N[k;];  c. rh;.rPyp 

d. rh;. yhud;];  e. tpil njhpatpy;iy 

 

54. In 1917, Annie Besant was the President of Indian National congress. She presided 

over ________ session. 

a. Bombay   b. Calcutta   c.Surat 

d.Lucknow   e. Answer not known 
1917 y; ,e;jpa Njrpa fhq;fpu]pd; jiytuhf md;dpngrz;l; Njh;e;njLf;fg;gl;lhh;. 

mth; _____________ $l;lj;jpw;F jiyik jhq;fpdhh;. 

a. gk;gha;   b. fy;fj;jh   c. #uj; 

d. yf;Ndh   e. tpil njhpatpy;iy 

 

55. Pick out correct answer 

i. Madras Mahajana Sabha  - 1884 

ii. South Indian People Association  - 1919 

iii. Non- Brahmin manifesto  - 1916 

iv. Madras Literary Society  -1830 

a.  ii only correct  b. iv only correct  c. ii and iv are correct 

d.  ii and iii are correct e. Answer not known 
 rhpahd tpiliaj; Njh;e;njL 

 i. kjuh]; kfh[drgh   - 1884 

 ii. njd; ,e;jpa kf;fs; rq;fk;  - 1919 

 iii. gpuhkzuy;yhNjhh; gpufldk;  - 1916 

 iv. kjuh]; ,yf;fpa rq;fk;  - 1830 

 a. ii kl;Lk; rhp  b. iv kl;Lk; rhp  c. ii kw;Wk; iv rhp 

 d. ii kw;Wk; iii rhp  e. tpil njhpatpy;iy 

 

56. How many great circles can a sphere have?  

a. Two    b. Three  c. Ten 

d. Infinitely many  e. Answer not known 
 xU Nfhsj;jpy; vj;jid kPg;ngU tl;lq;fs; cs;sd.? 

 a. ,uz;L   b. %d;W   c. gj;J 
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 d. vz;zpylq;fh  e. tpil njhpatpy;iy 

 

57. In a certain code “MEDICINE” is coded as “EOJDJEFM”, then how is “COMPUTER” 

written in the same code? 

a. CMNQTUDR  b. CNPRVUFQ c. RNVFTUDQ 

d. RFUVQNPC  e. Answer not known 

xU Fwpg;gpl;l FwpaPL nkhopapy; ‘MEDICINE’ vd;w thh;j;ij ‘EOJDJEFM’ vd 

khw;wpf; FwpaPLr; nra;ag;gl;Ls;sJ vdpy; ‘COMPUTER’ vd;w thh;j;ijf;fhd FwpaPL 
vJ vdf; fhz;f:   

a. CMNQTUDR  b. CNPRVUFQ c. RNVFTUDQ 

d. RFUVQNPC  e. tpil njhpatpy;iy 

 

58. Cost of dress increases from Rs.2,100 to Rs. 2,520. Percentage increase in price is  

a. 15  b. 18  c. 20  d. 25  e. Answer not known 
 xU Milapd; tpiy &. 2>100 ypUe;J &.2>520 Mf mjpfhpj;jhy;> mjpfhpg;G rjtPjk; 

a. 15  b. 18  c. 20  d. 25  e. tpil njhpatpy;iy 

 

59. If 16 
2

3
% of a number is 40 then the number is  

a. 220  b. 240  c.420  d. 520  e. Answer not known 

 xU vz;zpy; 16 
2

3
% vd;gJ 40 vdpy; me;j vz; ahJ? 

a. 220  b. 240  c.420  d. 520  e. tpil njhpatpy;iy 

  

60. In Tamil Nadu, ‘Social Justice Day’ is observed on 

a. 17th October  b. 18th November  c. 17th September    

d. 18th August  e. Answer not known 

 jkpofj;jpy; ‘r%f ePjp ehs;’ mDrhpf;fg;gLk; jpdk; 

 a. mf;Nlhgh; 17  b. etk;gh; 18   c. nrg;lk;gh; 17 

 d. Mf];L 18  e. tpil njhpatpy;iy 

 

61. Which of the following is the newly identified butterfly species in Dzongu of North 

Sikkim during December 2021? 

a. Chocolate bordered Flutter Butterfly  b. Common Lime Butterfly 

c. Blue Pancy Butterfly    d. Spot Swordtail Butterfly 

e. Answer not known 
,tw;Ws; vJ tl rpf;fpk; khepyj;jpYs;s bNrhq;F vDk; ,lj;jpy; brk;gh; 2021 
khjj;jpy; fz;lwpag;gl;l gl;;lhk;G+r;rp ,dk; 

a. rhf;Nyl; Xu ,wf;if gl;lhk;G+r;rp  b. vYkpr;ir mofp gl;lhk;G+r;rp 

c. ePy trPfud; gl;lhk;G+r;rp    d. fj;jpthy; mofp gl;lhk;G+r;rp 

 e.  tpil njhpatpy;iy 
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62. Which one of the following was not correct about the most well known musician of 

Akbar’s Court? 

a. Tansen   b. Sur Dass   c. Ram Dass 

d. Tarachand   e. Answer not known 
 fPo;fz;ltw;Ws; mf;guJ kpfr;rpwe;j ,irg;ghlfh; gw;wpa jtwhd xd;W vJ? 

a. jhd;nrd;   b. #h;jh];   c. ,uhk;jh]; 

d. jhuhre;j;   e.  tpil njhpatpy;iy 

 

63. The first architectural construction made by Qutb -ud-Din-Aibak was the  

a. Qutb Minar   b. Arhai-Din-Ka-Jhompra 

c. Quwwat-ul-Islam mosque d. Jamaat Khana Masjid 

e. Answer not known 

 Fj;Gjpd; Igf;fhy; Kjypy; cUthf;fg;gl;l fl;blkhdJ ____________ MFk;. 

 a. FJg;kpdhh;    b.mh;fha;-bd;-fh-N[hk;uh 

 c. Fthj; cy; ,];yhk; k#jp  d. [khj; fhdh k];[pj; 

 e.  tpil njhpatpy;iy 

 

64. In the production process, which cost cannot be retrieved? 

a. Real cost   b. Opportunity cost  c. Sunk cost 

d. Implicit cost  e. Answer not known 
 cw;gj;jp nra;Ak; NghJ ve;j nryit jpUk;g ngw KbahJ? 

 a. cz;ik nryT  b. gpw tha;g;G nryT c. %o;Fk; nryT 

 d. cs;shh;e;j nryT e.  tpil njhpatpy;iy 

 

65. Find out which pair is not correct? 

a. RBI - Banker’s Bank 

b. FCI - Financial Assistance to Commercial Institutions 

c. IDBI – Industrial Finance 

d. EXIM Bank – Financing for Export and Import 

e. Answer not known 
 ve;j N[hb jjtwhdJ vd fz;Lgpbf;f 

 a. RBI -tq;fpfspd; tq;fp 

 b. FCI –tzpf epWtdq;fSf;F epjp cjtp 

 c. IDBI –njhopy; epjp 

 d. EXIM tq;fp – Vw;Wkjp ,wf;Fkjp epjp cjtp 

 e.  tpil njhpatpy;iy 

 

66. During the Sangam period the Agricultural area was called as  

a. Kurinji   b. Mullai   c. Marudam 

d. Neidal   e. Answer not known 

rq;f fhyj;jpy; tptrha epyq;fis cs;spl;l epyg;gug;G _______ vd miof;fg;gl;lJ.  

a. FwpQ;rp   b. Ky;iy   c. kUjk; 

d. nea;jy;   e.  tpil njhpatpy;iy 
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67. Pallavan Kovil plates explains about 

a. Svetambara Jaina order    b. Digambara jaina order 

c. Buddhist principles    d. Geneology of the Pallavas 

e. Answer not known 
gy;ytd; Nfhtpy; jfLfs; vijg; gw;wp $Wfpd;wd? 

a.RNtjk;guh rkz thpir  b. jpfk;guh rkz thpir  c. Gj;j nfhs;iffs; 

d.gy;yt murh;fspd; kuG thpir  e.  tpil njhpatpy;iy 

 

68. ____________ district was the highest multi-dimensional poverty index, according to 

TN Human Development Report ( 2013-14)  

a. Kancheepuram  b. Chennai  c. Coimbatore 

d. Dharmapuri  e. Answer not known 
jkpo;ehL kdpj Nkk;ghl;L mwpf;if 2013-14 Mk; Mz;bd;gb> gd;Kf ghpkhd tWik 

FwpaPL ____________ khtl;lj;jpy; Kjd;ik mjpf FwpaPL ngw;W tpsq;FfpwJ.  

a. fhQ;rpGuk;   b. nrd;id  c. Nfhak;Gj;J}h; 

d. jh;kGhp   e.  tpil njhpatpy;iy 

 

69. _____________ private sector industry received Tamil Nadu Government Award for 

providing maximum  job opportunities to differently abled persons during 2019. 

a. Sakthi Masala Pvt Ltd, Erode  b. Everest Stabilisers (p) Ltd,Chennai 

c. SKM Animal – Feeds Ltd, Erode  d. Vedanta Sterlite Industry, Thoothukudi 

e. Answer not known 
2019-y; mjpfkhd cly; CdKw;Nwhiu gzpf;F mkh;j;jpaikf;F jkpo;ehL muR 

tpUJ ahUf;F nfhLf;fg;gl;lJ.? 

 a. rf;jp krhyh (j) epWtdk;> <NuhL   

b. vtnu];l; ];nlgpiy]h; (j) ypl;. nrd;id   

c. v];.Nf.vk;. mdpky; - gPl;]; epWtdk;> <NuhL 

 d. Ntjhe;jh ];nlh;iyl; njhopy;> J}j;Jf;Fb 

 e.  tpil njhpatpy;iy 
 

70. A works 3 times as fast as B and is able to complete a task in 24 days less than the 

days taken by B. Find the time in which they can complete the work together. 

a. 36 days  b. 27 days c. 18 days d. 9 days e. Answer not known 

A Mdth; B I fhl;bYk; 3 klq;F Ntfkhf xU Ntiyia nra;J Kbg;ghh;. 

mtuhy; me;jg; gzpia B vLj;Jf; nfhz;l Neuj;ij tpl 24 ehs;fs; Fiwthf 
vLj;J Kbf;f KbfpwJ. ,UtUk; Nrh;e;J me;j Ntiyia Kbf;f MFk; Neuj;ijf; 
fhz;f. 

a. 36 ehl;fs;  b. 27 ehl;fs; c. 18 ehl;fs; d. 9 ehl;fs; e.  tpil njhpatpy;iy 

 

71. Perimeter of a triangular plot is 60 m. Find the area of the plot if the sides are in the 

ratio 5 : 12 : 13 

a. 130 m2  b. 120 m2 c. 110 m2 d.100 m2  e. Answer not known 
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Kf;Nfhz tbtpyhd kidapd; Rw;wsT 60 kP. Mjd; gf;fq;fs;  5:12:13 vd;w 
tpfpjj;jpy; cs;sd vdpy; me;j kidapd; gug;gsitf; fhz;f. 

a. 130 kP2  b. 120 kP2 c. 110 kP2 d.100 kP2 e.  tpil njhpatpy;iy 

 

72. A family went to a hotel and spent Rs. 350 for the food and paid 5% GST extra.  

Calculate the CGST and SGST. 

a. Rs. 87.5, Rs. 85.7  b. Rs. 8.75, Rs. 8.75   c. Rs. 85.7, Rs. 87.5 

d. Rs. 7.85, Rs. 7.85  e. Answer not known 
xU FLk;gk; cztfj;jpw;Fr; nrd;W czTf;fhf &.350 nryT nra;J $Ljyhfr; 

ruf;F kw;Wk; Nrit thpahf 5% nrYj;jpdhh;fs; vdpy; kj;jpa kw;Wk; khepy ruf;F 
Nrit thpiaf; fzf;fpLf. 

a. &. 87.5, &. 85.7  b. &. 8.75, &. 8.75   c. &. 85.7, &. 87.5 

d. &. 7.85, &. 7.85  e.  tpil njhpatpy;iy 

 

73.  In an examination 35 % of the students passed and 455 failed.  How many students 

appeared for the Examination? 

a. 490   b. 700  c. 845  d. 1300 e. Answer not known 

xU Njh;tpy; cs;s nkhj;j khzth;fspy; 35 % Ngh; Njh;r;rp ngw;wth;fs;> NkYk; 455 
Ngh; Njh;r;rp ngwhjth;fs; vdpy; Njh;T vOjpa khzth;fspd; vz;zpf;if 

a. 490   b. 700  c. 845  d. 1300 e.  tpil njhpatpy;iy 

 

74. The name of the first super computer assembled indigenously under national super 

computing mission. 

a. Param Agni  b. Param Shivay  c. Param Vidwan 

d. Param Swayam  e. Answer not known 
#g;gh; fzpj Kiw kp~d; gb cs;ehl;bNyNa jahhpf;fg;gl;l #g;gh; fzpdpapd; ngah; 
vd;d?  

a. guk; mf;dp   b. guk; rpNt   c. guk; tpj;thd;  

d. guk; ];tak;  e.  tpil njhpatpy;iy   

 

75. Which organization launched the school education quality index? 

a. NGO Pratham  b. NITI  Aayog  c. HRD ministry 

d. None of the above  e. Answer not known 
gs;spf; fy;tpj; juf; FwpaPl;il mwpKfg;gLj;jpa mikg;G vJ?  

a. NGO gpujk;   b. NITI MNahf;  c. kdpj ts Nkk;ghl;L mikr;rfk; 

d. Nkw;$wpait vJTk; ,y;iy   e.  tpil njhpatpy;iy 

 

76. Which one of the statement is correct regarding the Indus Valley Civilization?  

1. There was a strong centralized Government  

2. Each lane had a lamp post at cutervels 

3. Dust-bin were also provided in the streets 

4. Quarters of rich and poor were found 

a. 1.2 is correct 3,4 are incorrect  b. 1,3 is correct 2,4 are incorrect 

c. 1,2,3 are correct 4 is incorrect  d. All are correct   e. Answer not known 
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rpe;J rkntsp ehfhpfj;ij gw;wpa $w;Wfspy; rhpahdJ vJ? 
1. tYthd kj;jpa muR    
2. Xt;nthU njUtpYk; njU tpsf;Ffs; 
3. njUf;fspy; Fg;ig njhl;b mike;jpUe;jJ.  
4. gzf;fhuh; kw;Wk; ViofSf;fhd FbapUg;Gfs; fhzg;gLfpwJ. 

a. 1.2 kl;Lk; rhp  3,4 jtwhdJ.          b. 1,3 kl;Lk; rhp  2,4 jtwhdJ. 

c. 1,2,3 kl;Lk; rhp  4 kl;Lk; jtwhdJ.    d.midj;Jk; rhpahdJ    e.  tpil njhpatpy;iy 

 

77. Target of Rs.1,05,000 Crore of disinvestment receipts is set for the financial year 

a. 2017-2018   b. 2018-2019  c. 2019-2020 

d. 2020-2021   e. Answer not known 

KjyPl;Lf;fiyg;G tutpdq;fSf;F _____________ epjpahz;by; &. 1>05>000 Nfhb 
,yf;F eph;zapf;fg;gl;Ls;sJ.  

a. 2017-2018   b. 2018-2019  c. 2019-2020 

d. 2020-2021   e.  tpil njhpatpy;iy 

 

78. The model adopted in the second five year plan was 

a. Harod-Domar Model  b. Kaldor model  c. Meade’s model 

d. Mahalanobis model  e. Answer not known 
 ,uz;lhtJ Ie;jhz;L jpl;lj;jpy; cUthf;fg;gl;l khjphp  

 a. `uhL – Nlhkhh; khjphp  b. fhy;lhh; khjphp   c. kPl; khjphp 

 d. k`yNehgp]; khjphp  e.  tpil njhpatpy;iy 

  

79. The Longest poem of Madurai – Kanchi more than 700 lines wrote by 

a. Nakeerar   b. Paranjothi   c. Ilango Adigal 

d. Mangudi Maruthanar e. Answer not known 
 700 thpfSf;F Nky; nfhz;l ghlyhd kJiuf; fhQ;rp vd;w E}iy vOjpath; 

 a. ef;fPuh;   b. guQ;N[hjp   c. ,sq;Nfh mbfs; 

 d. khq;Fb kUjdhh;  e.  tpil njhpatpy;iy 

 

80. The character of the courageous mother in the battle field in Sangam Literature is 

praised 

a. Poigaiyar   b. Okkur Masathiyar c. Palai Gowthamanar 

d. Panamparanar  e. Answer not known 
 rq;f ,yf;fpaj;jpy; Nghh;f;fsj;jpidf; fz;l tPuj;jhapd; epiyia Nghw;wpath;  

 a. ngha;ifahh;  b. xf;$h; khrhj;jpah; c. ghiyf; nfsjkdhh; 

 d. gdk;gudhh;  e.  tpil njhpatpy;iy 

 

81. _________ is the Premier State in human organ donation 

a. Uttar Pradesh  b. Orisha   c. Tamil Nadu 

d. Kerala   e. Answer not known 
 cly; cWg;G jhdj;jpy; Kjd;ikahd khepykhf ,Ug;gJ vJ? 

 a. cj;jpu gpuNjrk;  b. xhprh  c. jkpo;ehL 

 d. Nfush   e.  tpil njhpatpy;iy 
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82. The initiatives of e-Governance of Tamil Nadu is  

i. Enterprise wide architecture 

ii. Rules, Policies, standards 

iii. Training and HRD 

iv. Buffer stock operation 

a.  i  only   b. ii only   c. i, ii and iii  

d. ii and iv only  e. Answer not known 

 gpd;tUtdtw;Ws; jkpo;ehL kpd;- MSik Kfikapd; nray;ghL ___________ MFk;. 

 i. epWtdk; rhh;e;j fl;blf;fiy  

ii. tpjpKiwfs;> nfhs;iffs;> jug;gLj;Jjy;fs;  

iii. gapw;rp kw;Wk; kdpjts Nkk;ghL 

iv. cghp ,Ug;Gf; nfhs;if 

a.  i  kl;Lk;   b. ii kl;Lk;  c. i, ii kw;Wk; iii  

d. ii kw;Wk; iv kl;Lk;  e.  tpil njhpatpy;iy 

 

83. The length, breadth and height of a cuboid are in the ratio 7 :5 :2.  Its volume is 35840 

cm3 then height is 

a. 8 cm  b. 16 cm c. 24 cm d. 32 cm e. Answer not known 
xU fdr; nrt;tfj;jpd; ePsk;> mfyk; kw;Wk; cauj;jpd; tpfpjk; 7:5:2 kw;Wk; fd 
msT 35840 nr.kP 3vdpy; cauj;jpd; msT. 

a. 8 nr.kP.  b. 16 nr.kP. c. 24 nr.kP. d. 32 nr.kP. e.  tpil njhpatpy;iy 

 

84. The volume of a solid right circular cone is 4928 cu. Cm. If its height is 24 cm, then 

find the radius of the cone 
22

7

 

= 
 

 

a. 14 cm b. 15 cm c. 16 cm d. 17 cm  e. Answer not known 
xU jpz;k Neh;tl;lf; $k;gpd; fd msT 4928 f.nr.kP. kw;Wk; mjd; cauk; 24 nr.kP. 

vdpy; mf;$k;gpd; Muj;ijf; fhz;f 
22

7

 

= 
 

 

a. 14 nr.kP. b. 15 nr.kP. c. 16 nr.kP. d. 17 nr.kP. e.  tpil njhpatpy;iy 

 

85. Write 0.07% as a fraction 

a. 
7

10
  b. 

7

10000
 c. 

7

100
  d. 

7

1000
 e. Answer not known 

 0.07% I gpd;dkhf khw;Wf; 

a. 
7

10
  b. 

7

10000
 c. 

7

100
  d. 

7

1000
 e.  tpil njhpatpy;iy 

 

86. Acidity if any in the urethra after passage of urine is neutralized by the secretion of  

a. Prostate Gland  b. Perinaeal Gland  c. Rectal Gland 

d. Cowper’s Gland  e. Answer not known 
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rpWePh; fopj;j gpd; rpWePh;Fohapy; Vw;gLk; mkpyj;jd;ikia eLepiyg;gLj;Jk; Rug;G  -

_____________ My; Ruf;fg;gLfpwJ.  

a. GNuh];Nll; Rug;gp  b. nghpdpay; Rug;gp  c. kyf;Fly; Rug;gp 

d. nfsgh;]; Rug;gp   e.  tpil njhpatpy;iy 

 

87. The highest percentage of scheduled tribe population is found in the state/union 

territory. 

a. Lakshadweep  b. Meghalaya   c. Mizoram 

d. Nagaland   e. Answer not known 

gl;bay; goq;Fbapd kf;fs; mjpf rjtPjj;jpy; fhzg;gLk; khepyk;/A+dpad; gpuNjrk; 
vJ? 

a. yl;rj;jPTfs;  b. Nkfhyah   c. kpNrhuk; 

d. ehfhyhe;J   e.  tpil njhpatpy;iy 

 

88. The Durgabai Deshmuk Award for women Development is given to which of the 

following organisations?  

a. Women Development Organisation  b. Voluntary organisations 

c. Central Social Welfare Board   d. State Social Welfare Board 

e. Answer not known 
ngz;fs; Nkk;ghl;bw;fhd Jh;fhgha; Nj~;Kf; tpUJ gpd;tUk; ve;j mikg;gpw;F 
toq;fg;gLfpwJ.? 

a. ngz;fs; Nkk;ghl;L mikg;G    b. jd;dhh;t mikg;G 

c. kj;jpa r%f ey thhpak;    d. khepy r%f ey thhpak; 

e.  tpil njhpatpy;iy 

 

 

89. Which of the following is / are the advantage /s of goods and service tax? 

i.  Removing cascading tax effect 

ii. Uniform taxation of goods and services 

iii. Tax decisions are taken jointly by Centre and State 

a. i  and ii only   b. i and iii only   c. ii and iii only 

d. i, ii and iii    e. Answer not known 

 fPo;f;fz;ltw;Ws; gz;lq;fs; kw;Wk; gzpfs; thpapd; ed;ik/ ed;ikfs; vJ/ ahit? 

 i. mLf;F thp tpisTfis ePf;FfpwJ. 

 ii. nghUs;fs; kw;Wk; gzpfSf;F xNu khjphpahd thp 

 iii. kj;jpa khepyq;fs; ,ize;J thp KbTfis vLf;fpwJ. 

a. i  kw;Wk;  ii kl;Lk;   b. i kw;Wk;  iii kl;Lk;   c. ii kw;Wk;  iii kl;Lk;  

d. i, ii kw;Wk; iii   e.  tpil njhpatpy;iy 

 

90. Name the following work that was not written by C.N.Annadurai 

a. Ariyamayai  b. Or iravu   c. Sorka Vasal 

d. Ananda Bodhini  e. Answer not known 
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fPo;fz;ltw;Ws; rp.vd;. mz;zhJiuahy; vOjg;glhj gilg;ig $W. 

 a. Mhpa khia  b. Xh; ,uT   c. nrhh;f;f thry; 

d. Mde;j Nghjpdp  e.  tpil njhpatpy;iy 

 

91. The “Chakravardhini” paper was devoted mainly to the elevation of Indian Women 

by 

a. Bharathiyar  b. E.V. Ramasamy  c. C.N.Annadurai 

d. M. Karunanidhi  e. Answer not known 

,e;jpag; ngz;fspd; Kd;Ndw;wj;jpw;fhf ‘rf;futh;j;jpdp’ vd;w ehspjo; __________My; 
mh;g;gzpf;fg;gl;lJ. 

a. ghujpahh;   b. <.Nt.uhkrhkp  c. rp.vd;. mz;zhJiu 

d. vk;. fUzhepjp  e.  tpil njhpatpy;iy 

 

92. According to census 2011. Tamil Nadu’s share in total population living in rural 

areas in the country was 

a. 6.5 percent   b. 5.5 percent   c. 4.5 percent  

d. 3.5 percent   e. Answer not known 

kf;fl;njhif fzf;nfLg;G 2011-d; gb ,e;jpahtpy;> Cuf/fpuhkg;Gw gFjpapy; 
trpf;Fk; kf;fl;njhifapy; jkpo;ehl;bd; gq;F ahJ? 

a. 6.5 rjtPjk;   b. 5.5 rjtPjk;   c. 4.5 rjtPjk;  

d. 3.5 rjtPjk;   e.  tpil njhpatpy;iy 

 

93. Assertion [A] :  Infant mortality has shown a significant decline in India 

Reason[R]: An improvement of medical facilities and better care reduce the 

deathrate. 

a. [A] is True, but [R] is False    

b. [A]is False, but [R]is True 

c. Both [A] and [R] are true and [R] is the correct explanation of [A] 

d. Both [A] and [R] are true, but [R] is not the correct explanation of [A] 

e. Answer not known 

fUj;J[A]: ,e;jpahtpy; Foe;ij ,wg;G tpfpjk; ngUksT Fiwe;Js;sJ. 

fhuzk;[R]: kUj;Jt trjpfs; mjpfhpj;jy;> rpwe;j ftdpg;G Mfpait ,wg;G  
tpfpjj;ij Fiwf;fpwJ.  

 a.  [A] rhp> Mdhy; [R] jtW     

b. [A] jtW. Mdhy; [R] rhp 

 c. [A] kw;Wk; [R] ,uz;Lk; cz;ik. [R] vd;gJ [A] f;F rhpahd tpsf;fk; MFk;. 

d. [A]kw;Wk; [R],uz;Lk; cz;ik. Mdhy; [R] vd;gJ [A] f;F rhpahd tpsf;fk; 
my;y. 

e.  tpil njhpatpy;iy 

 

94. There are two cones with equal volumes.  What will be the ratio of their radius and 

height? 

a. 1 :1  b. 1:2  c. 2 : 1  d. 1: 3  e. Answer not known 



 

21 | P a g e  
 

,U $k;Gfspd; fd msTfs; rkk; vdpy; mtw;wpd; Muk; kw;Wk; cauk; Mfpatw;wpd; 
tpfpjk; 

a. 1 :1  b. 1:2  c. 2 : 1  d. 1: 3  e.  tpil njhpatpy;iy 

 

95. The total surface area of a cone of radius 7 cm is 704 cm2, then slant height of cone is 

a. 20 cm b. 25 cm c. 28 cm d. 30 cm e. Answer not known 
 7 nr.kP. MuKs;s xU $k;gpd; nkhj;j gug;gsT 704 nr.kP.2 vdpy; rhAauk; 

a. 20 nr.kP. b. 25nr.kP. c. 28 nr.kP. d. 30 nr.kP. e.  tpil njhpatpy;iy 
 

96. Barr body is  

a. Activated ‘X’ chromosome  b. Inactivated golgi complex 

c. Inactivated ‘X’ chromosome   d. Inactivated dictyosome 

e. Answer not known 
 ghh; cWg;G vd;gJ 

 a. nray; epiyapy; cs;s ‘X’ FNuhNkhNrhk;   

b. nray;glhj Nfhy;if $l;L nghUs; 

 c. nray;glhj ‘X’  FNuhNkhNrhk;    

d. nray;glhj bf;bNahNrhk;   

e.  tpil njhpatpy;iy 
  

97. How do you call the organisms inhabit the bottom of the aquatic bodies? 

a. Nektonic   b. Planktonic   c. Benthic 

d. Thermic   e. Answer not known 
 ePh; epiyfspd; Mokhd mbj;jl;lfspy; thOk; caphpdq;fis vt;thW miog;gha;? 

 a. nef;Nlhdpf;  b. gpshq;Nlhdpf;  c. ngd;e;jpf; 

d. njh;kpf;   e.  tpil njhpatpy;iy 
 

98. The four segment of the golden quadrilateral join the following cities:   

1. Delhi – Mumbai 

2. Mumbai – Chennai 

3. Chennai – Kolkata 

4. Kolkata – Delhi 

Consider the length of the above segments in descending order and select the correct 

answer using the code given below: 

a. 3,  4,  1,  2     b. 3,  4,  2,  1   c. 4,  3,  2,  1   

d.4,  3,  1,  2   e. Answer not known 
jq;f ehw;fu rhiyfspd; ehd;F gphpTfs; fPo;fz;l efuq;fis ,izf;fpwJ. 

a. nly;yp – Kk;ig   b. Kk;ig – nrd;id  

c. nrd;id – nfhy;fj;jh d. nfhy;fj;jh – nly;yp 
NkNy cs;s gphpTfspd; ePsj;ij ,wq;F  thpirapy; fUj;jpy; nfhz;L fPNo 
NfhLf;fg;gl;Ls;s FwpaPl;il gad;gLj;jp rhpahd gjpiy Njh;e;njLf;fTk;: 

a. 3,  4,  1,  2   b. 3,  4,  2,  1   c. 4,  3,  2,  1  

d. 4,  3,  1,  2    e.  tpil njhpatpy;iy 
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99. Match the List I with List II and select the correct answer using the codes given 

below: 

List I     List II 

State    Size of population (persons) as per 2011 census 

A. Maharashtra   1. 104,099,452 

B. Bihar    2. 84,580,777 

C. West Bengal   3. 112,374,333 

D. Andhra Pradesh   4. 91,276,115 

A B C D 

 a. 3 4 1 2 

 b. 3 1 4 2 

 c. 3 2 1 4 

 d. 1 3 4 2 

e. Answer not known 

gl;bay; I kw;Wk; II I nghUj;jp fPNo nfhLf;fg;gl;Ls;s rhpahd tp;ilia Njh;T 
nra;f: 

gl;bay;  I             gl;bay;  II 
khepyk;               2011 Mk; Mz;L kf;fs; njhif fzf;nfLg;gpd; gb  

kf;fl;njhifasT (egh;fs;) 

A. kfhuh~;l;uh   1) 104,099,452 

B. gPfhh;    2) 84,580,777 

C. Nkw;F tq;fhsk;   3) 112,374,333 

D. Me;jpu gpuNjrk;   4) 91,276,115 

   A B C D 

a. 3 4 1 2 

 b. 3 1 4 2 

 c. 3 2 1 4 

 d. 1 3 4 2 

e.  tpil njhpatpy;iy 
 

   100 Match the following: 

 A. Central Bureau of Investigation 1. 1968 

 B. Central Vigilance commission  2. 1964 

 C. First Lokpal Bill introduced in  

     Lok sabha     3. 1963 

 D. All India Service (Conduct) Rule 4. 1954 

  A B C D 

 a. 1 2 3 4 

 b. 2 1 4 3 

 c. 3 2 1 4 

 d. 1 3 2 4 

e. Answer not known 
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fPo;tUtdtw;iw nghUj;Jf; 

A. kj;jpa Gydha;Tg; gphpT     1. 1968 

B. kj;jpa fz;fhzpg;G Mizak;     2. 1964 

C. Kjy; Nyhf;ghy; tiuT Nyhf;rghtpy; mwpKfk; 3. 1963 

D. mfpy ,e;jpa Nrit (elj;ij) tpjp    4. 1954 

  A B C D 

a. 1 2 3 4 

 b. 2 1 4 3 

 c. 3 2 1 4 

 d. 1 3 2 4 

e.  tpil njhpatpy;iy 


